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ECONOMICS
PAPER - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1. Consider the following diagram showing the market demand and supply curves for a
commodity. If the government fixes the price P, above the market clearing price P, then the
dead-weight loss is represented by :

D
O | (:20 Quantity
(1) Area of triangle ABE
(2) Area of triangle EBC
(8) Area of triangle ABE +area of triangle EBC
(4) Area of rectangle P;A B P
2. Which of the following features belong to Cournots” model of duopoly ?
(a) Ityields determinate and stable equilibrium for the duopolists
(b) It is an adequate representation of Nash equilibrium
(c)  If the duopolists combine to form a monopoly, the price changed by them will be less
than the equilibrium price without their combining together.
Of the above which statements are true ? Choose from the code below :
(1) All the above are correct (2) (a) and (c) are correct
(3) (a) and (b) are correct (4) (b) and (c) are correct
s || T 2
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1.

N-00117

frefafad si@ W faeR vy a8 fadt agg &t 9 9 iR gfd skl 1 goien T )
IS THR SR HIfeTd L delt HIAd Py, o =TT A Py, 1 Foifd et @ @ ' Fat ) g’
frfataa § o foash gr < s ?

Q T
1) ABE 34« &1 &%at

EBC Ty &1 &=

ABE T39S &1 &9%d + EBC s &1 &5%d
P,A B P, 3 %l &%

2
3

(
(
(
(4

)
)
)
)

frefafad § w9 @ fosvand $3E1 % gafsR diea ¥ Hefd €2
(a) T GNI gATUHITGET b1 feia 3R Tl Sqer & §
(b) TS I TgeH 1 FAT Ffaffee &

(c) AfE gAMURR eI THIMURR S § O STk NI HiAd § TR 3T T et fom
Yo ®iAd ¥ %7 Bl

STdE § 9 HIF W weH W@ § 2 A feu U e ¥ g
(1) Sudaa gl oe §
2) (a)aﬁuc)ﬂ%‘r%
3) <> b) W& &
4) (b) afr%

i ;



3. A good is called a ‘Giffen good” when the income effect is :

(1) positive and is greater than the substitution effect
(2) Equal to substitution effect
(3)  Less than the substitution effect
(4) Negative and is greater than the substitution effect
4. Movement from an inefficient allocation to an efficient allocation in the Edgeworth Box
will :

(1) increase the utility of all individuals

(2) increase the utility of at least one individual, but may decrease the level of utility of
another person

(3) increase the utility of one individual, but cannot decrease the utility of any individual

(4) decrease the utility of all individuals

5.  In explaining the price effect, which of the following is/are constant ?
(a) Real Income
(b) Money Income
(c) Price ratio

Choose the correct answer from the code given below :

Code :
(1) Only ()
(2) Only (b)
(3) Both (b) and (c)
(4) Both (a) and (c)
6.  Which of the following is a problem connected with general equilibrium analysis ?
(1) Existence problem (2) Uniqueness problem
(3)  Stability problem (4) All of the above
aon [ RTHMIAIN :
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3. foelt og =1 fiftRs asg’ @ a1 Sl © 519 3T 9WE Feafafad § 9 S 9 2§ 2
(1)  &cer 3R SfagerTas gure 9 eifere 2ar €

(2) WTEAMTTS Y4TE & SR

(3) e guE 9 ®H

(4)

4) SRUMH 3R Yfaemmas g49e 9 At

4. TSaY A H S e W FIC Aeled H W 9 Fe=fafad § 9 = g ?

(1) [t =fel =6t 3wAftan ° gfs

(2) H Y HH Tk Al i ITAN H ghg Hfohd T AR 1 STANTAT 1 TR A 81 Fohall ©
3) ot weh safaa ot Syefitan ® gfg Afra fordt o7 =afs =t Swafitar & e ekt ©
(4) [t el bt ITART H wH
5.  hiHd Y& & TR B fefafed § 9 $ie fer war/twd €2

(a) dTEifoeh 3T

(b) ifger T

() IMA ST

e fog T e H @ W& S g

He

(1) 9@ (a)
(2) 9 (b)
(3) (b) ¥R (o) i
(4) (a) 3R () I

2

4

6. fAfafEd § ¥ %M 9WH Ggad faveivo § Hefid T 99 § 2
(1) A& gaE (2) faferse goen
() TRt guen (4) Sug af

s (TP ;



7.  In the adjacent diagrams 1 and 2, the demand curve DD and supply curve SS are shown.
Point E and F represent the equilibrium points. Then which of the following is correct ?

Y D Y S
S
D
E . F
Price Price
S
D s P
© D&s X O D&S X
Fig. 1 Fig. 2
(1) Both points E and F are the points of stable equilibrium
(2) Both points E and F are points of unstable equilibrium
(3)  Equilibrium is stable at point E and unstable at point F
(4) Equilibrium is unstable at point E and stable at point F
8.  Which of the following statements about Pareto Optimum are correct ?

(a) It changes with changes in the distribution of income

(b) At the Pareto optimum, MRS in consumption=MRT in production
(c) Itis notunique

(d) It is obtained under perfect competition

Code :

(1) (@) (c) and (d)

(2) () and (9

(3) (a), (b) and (d)

(4) (a) and (b)

)
LA ;
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7. few g emmm 1 @R 2 ®, | 5% DD ¥R gfid ok SS i fe@mn T €1 fog E @R F gger fegei
%I TG T, @ Fefafed § 9 &F 98t 82

Y D Y S
S
D F
E
Ha $imd
D 5 S D
O w.oagfd X o moagd X
1 =2
1) E &R F AT Tl Hqer & fog §

2) ESRF <Ml sreerl dqed & fog €
fog B W Hger TRl ¢ iR fag F X oeemrh §

forg E R W o/emt iR fag F W Tt §

3

(
(
(
(4

)
)
)
)

8. fr=fafad # 9 %1 @1 hox T2 T2a9 & I) H Tt § 2

(a) o1 faaor & ufted= A I8 see §

(b) TR TRAH W, 3UHN H TH AR TH =3 § TH R &
(c) e faftme T2 ?

(d) = ot giaahfimar & gret S §

He :
1) @) (© W (@)
(2 (b) 3R ()
(3) (@), (b) 3R (d)
4) (@) 3R (b)
N0 il ;




9.  Market prices adjusted to consider differences between social cost - benefit and private cost-
benefit calculations are :
(1) Consumer Surplus (2)  Price distribution
(3) Exchange rate (4) Shadow prices
10. ‘Bandwagon Effect’ is found in which of the following ?
(1) Life cycle hypothesis (2) Permanent income hypothesis
(3)  Absolute income hypothesis (4) Relative income hypothesis
11. Consider the following statements :
(a) Phillips curve is an inverse relationship between the rate of unemployment and the
rate of inflation in an economy
(b) Engel’s Law observes that as income rises the proportion of income spent on food falls
even if the actual expenditure on food rises
Which of the above statement(s) is/are correct ?
(1) Only (a) (2) Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b)
12.  Which amongst the following is not well matched ?
Concept Economists
(1) Dual decision hypothesis R.W. Clower
(2) Natural rate of unemployment  E. Phelps and M. Friedman
(3)  Limit Price Theory J. Bhagwati
Planned sales curve Mrs. J. Robinson
N7 \IHII“II\HI\||HHHH|||| JINHN :
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10.

11.

12.

TSR ATTd 1Y 3R s ANTd o1y & s X kit UM & fATT SR ShiHdal &) fefafad § @

forden foTu gamENfSia foram ST &2

(1) U Afakeh (2) wHa fagq
(@) fafma <t (4) fdsEn HEd

‘o gura’ fefafad ° 9 feaw gwfg 82

(1) SiteF =sh iehedHT (2) AR A YRR
(@) T s aRehea (4) HIUE 3T YTl
Frefafead Al W foar st .

(a) TRfered o sTeferaeen § SUSTIRT &t S iR HETEhIfd &t R & o= Jfaad S |

(b) TR @ % STTER S 3T e § HISH T IRt @9 9gd T ot S W@ ot S areft
3T 1 TG HH & S & |

frfafead # ¥ i 91 weF 98 g/8 ?
(1) F9 (a) (2) e (b)
(3) (a) 3R (b) T 4) () 3T (b) ¥ F1E T
frefafea § s @ gafaa & 82
AT srefyrreft
(1) fg-froia aftshea I Ty, FAeR
(2) SUSEIRI T TRfdew e UF TH.RISH
(3) UREH ®ma fag EACK]
(4) TS fosra as greet S, Ao

s (TP :



13.  Which amongst the following is correct for the aggregate demand function shown in the

diagram ?
H AD
(Aggregate
demand)
AD
X

@) Y (Income)

@ gy 7
0 S52<o
o 8P

Choose the answer from the code below :
(1) (a) and (d) are correct (2) (a) and (c) are correct

(3) (b) and (c) are correct (4) (b) and (d) are correct

14. Permanent income hypothesis assumes positive correlation between which of the following
pairs of variables ?

(1) Permanent income and transitory income
(2) Permanent income and transitory consumption
(3) Permanent income and permanent consumption

(4) Transitory income and transitory consumption

s [T
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13. fr=fafad § 9 <M, @ o <9t T 999 A9 Hed & Hod H§ J& & ?

(9w =)

AD
@) Y (319)

d(AD

@ >0
d(AD

v <o
d?(AD

() d(Y2 )>0
d?(AD

@ <o

(1) (a) 3 (d) W& &
3) (b) R () T

AD

2) (a) 3R () W& E
(4) (b) R (d) T &

14. TR T URehedH & STER fefafed fa =@ & gl & = oAeTs e-avay 2l § 2

(1) TRl T iR TRl o1

(2) TR A IR ST 3un

(3) TR T IR T 3UNM
STETR 3T 3R STt SqT

N7 IIHIHHIIINI\H\HH||H\||||H|HI\||H|\|IH\IHII\II\IH||\
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15. Which of the following would be the initial impact on an economy if wages were to increase
more than workers productivity ?
(1) Employment would increase, causing a rightward shift in the aggregate demand curve
(2) The aggregate demand curve would shift to the left, increasing the price level
(8) The short - run aggregate supply curve would shift to the left, increasing the price level
(4) Employment would decrease, causing a rightward shift in the aggregate demand curve
16. Consider the following statements describing the relationship between marginal propensity
to consume (m.p.c) and the value of the multiplier :
(a) Higher the m.p.c lower is the value of multiplier
(b) Higher the m.p.c higher is the value of multiplier
() If m.p.c=1, value of multiplier will be oo
Which of the above statements is/are correct ?
(1) (b) alone (2) (b) and (c)
(3) (c) alone (4) (a) alone
17. Match List - I and List - II and select the correct answer from the code given below :
List - I List - II
(Curve) (Relationship)
(a) Engel curve (i) Tax Revenue - Tax rate
(b) Rahn curve (i) Income - consumption
(c) Laffer curve (iii) Environment - Per capita Income
(d) Kuznets curve (iv) Govt. Expenditure - per capita Income
Code
@ ®) (© (@
O @ @ 0 G
@ 6 @) @) @
@) @ @) O G
@) @ O @ )
aon [ RTHMIAIN 3
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15. frefafed § 9 stefereren | 1 grfves gure S Sid gl § HSqL ohi 3c1eshal § a1fes gfg =it

16.

17.

(4) @) 6 @
oot | ETHLRCAN

STt & 2

(1) ISR 5T FSed T8 91 ok <t oK fove g

(2) HHY AT 5 o SR 2 e wd 'R H gfg @

(3)  SIcUHITetsh THY 3MYfd ok ol iR frwe 2nm sqd ivd =R gig Bt
(4) TSR w1 S q9w A 9ok < 3R e g

2

4

frefafed werl W foem FifSe 5 39sdm &t 99 96fd (mup.c) 3TR U & 71 & o= dey
I AT I TE T

() TAMH (m.p.c) T 2iferer SFft 7Ok 1 911 3a1 & HH RN

(b) THHH (m.p.c) T siferem Srft T[oreh 1 9 a0 & AR g

() I THRH (m.p.c)=1 T T U1 F TH 3T (o) BT

ST H Y I 1 HUA T g/ ?

(1) o (b) 2) (b) 3R () (3)

Had (c) (4) A (a)

et - 1 1 Gl - 11 % 919 gAfad Sifse iR = feu 7u % 9 98 ) g

gt - 1 Tt - 11
(g ) (wdEr)
(a) TS =h () FATE - W
(b) e Th (i) 3T - SUHM
(c) TIH Tk (ili) TR - yfq Al T
(d) FHSHIE T (iv) W& = - gfd =t e
e :
@ (b) (9 (d)
1) @v) @) @) (i)
2 @ (@) @Gv) (i)
®) (@) @Gv) (@) (i)
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)
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18. ‘Golden rule of accumulation’ refers to the savings rate that :
(1) maximises the growth rate of output
(2) optimises the investment in the economy
(3) maximises the growing per capita consumption
(4) None of the above
19. Which amongst the following statements are true for Schumpeter model of development ?
(a) Development is possible because of credit creation by Banks
(b) Development flourishes in democracy
(c) Capitalist economy develops through trade cycles
Of the above which statements are correct ? Answer from the code below :
(1)  All the above are true (2) (a) and (b) are true
(3) (b) and (c) are true (4) (a) and (c) are true
20. In Marxian model, the rate of profit on capital is :
(1) Directly proportional to rate of exploitation as well as organic composition of capital
(2) Inversely proportional to rate of exploitation and organic composition of capital
(8) Inversely proportional to rate of exploitation and directly proportional to organic
composition of capital
(4) Directly proportional to rate of exploitation and inversely proportional to organic
composition of capital
21. Which of the following is/are true for AK model of growth ?
(a) It assumes constant savings rate
(b)  This savings rate is exogeneously determined
(c) The marginal product of capital is diminishing as output expands
Of the above which statements are correct ?
(1)  All the three above are correct  (2) Only (a) and (b) are correct
(3) (a) and (c) are correct (4) Only (b) and (c) are correct
22. According to Fisher - Clark thesis which one of the following is the correct sequence of
structural shift in the process of development ?
(1) Agriculture, Services, Industry
(2) Agriculture, Industry, Services
(3) Agriculture, Industry, Foreign trade
(4) Agriculture, Foreign trade, Services
s TR 1



John
Highlight

John
Highlight

John
Highlight

John
Highlight

John
Highlight


18. ‘HuAl o1 wafvr fom’ = < 1 ERTa e § S
(1) ST & gfg T I STfeehad el §
(2) SrefeEeen § fAw I ST I §
3) dfgHm, fa =afed SULNT i SAferehan Fdr ©
(4) SwdE H q R &
19. frafafed § & &1 @ wem gedie & fowm Aiea & ddy § 9&@ g/ ?
(a) Sl GNI ARG g o HR T qevE §
(b) Tihds H fH™ - Fer ©
(c) AR Wk % WA § USiiarel stefereen fashfad et €
ST | B W ke WE T 7 A fu MY e § 3w e
(1) STdw T w2 € 2) (a) 3R (b) TEE
3) (b) 3R (c) T ¥ 4) (a) 3R () W& E

20. HEOR Hed H, U R Hi R A H F a0 82
(1) I T <X TR Gt Bt Siferh WA & Yot sifasw
(2) IO T X SR Y wt Sifass WA F wfaer sTifaes
(3) IV T <X F UfqA® AR SR Yot it S WA F FeAed AR
(4) IO T S YA A SR IS ki S HEe o gfqem STt

21. frefafed § @ o faem % Taasa & fog 92 /8 ?
(a) @8 fod o=@ < ifd e €
(b) TH I=d X H Afgeia 9 F e feman S S
(c) ST SIg o |1 Yt o Wid 3cre B e g ¥

STdF H W HA-T1 FHT TEl § ?
(1) ST gt Td ) (2) HaA (a) 3R (b) TE 1
3) (a) 3R (c) T ¥ (4) HId (b) 3R (c) T T

22. frvR-gemsh ofifgg & our freafafead & @ =0 fasm &t g § d=mes afads & a8
HATFA T ?
(1) F, FEnd, sem
2) Y, S, Fard
(3) iy, I, focel =mR
(4) T, forelt SR, ard

s (TP .




23. Hagen’s theory of social change uses psychology, sociology and anthropology to explain
how a traditional agricultural society :

(1)
()
(3)
(4)

attains continuing technical progress
learns to accept its fate
has a social structure where high status is maintained

produces an accommodating personality with a high need for achievement

24. According to Lewis model, the dual economy grows, only when :

(1)
(2)
®)
4)

Modern sector increases its output share relative to the traditional sector
agriculture sector uses modern equipment
agriculture sector hires labour economically

modern manufacturing sector is capital intensive

25.  One of the dependency theorists, Andre Gunder Frank suggests that the following economic
activities have contributed to under development :

(d)

Workers migrating from villages to foreign - dominated urban complexes
Forming an unskilled labour force to work in factories and mines and on plantations

Replacing indigenous entreprises with technologically more advanced, global, subsidiary
companies

Closing the economy to trade with and investment from developed countries

Choose the answer from the code given below :

26. If in a Harrodian economy, Ga=10% and Gw=8%, this will lead to :

(1)
o7 |

Inflation (

Unemployment (3) Deflation (4) Stagflation

2)
A 1
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23.

24.

25.

26.

R 1 G Iied fasia 39 o1 ol T o1 & fore weifaam, garet famm iR Jfamm &
SN Ll § T fhe TR T IReafe ot g

(1) FRE Tohent TIfd S o €|

2) Ao frafd = WieR e 9 o g

(3) U WIS W Bt & Fored 3 2o I wdt B

(4) UCHS i TAfTH TEXT F WY Th THEIST Al U1 Il T

4

Wfe Aied & STTER Qe TefeTewen wadt a¥t ol § 5 :

(1) 3T Jae TRk e & |l 79T e fewdn serar 7
(2) FHiT YRR MYk STHT T THIHA HIAT T |

(3) FH R gu HI foHwRd €9 F 9 W AT 2|

(4)  smyfTeR fafTaior Jeex st gem e § )

4

R fasiaanedl & € T, 31 7L ek God od § o Fefafen s sreisard = steafaen
T AR fRa T

(a) a9 faqeit-geardr arel ed e’ § gerd s ol A

(b) HREM 3R WHI Td M H wH F & fAU sTHwat gftes ae w1 Fmio &

(c) < 3T I GENRThI 9 9§ 2AfHeh Iod, Af¥eeh AT Hearal o Fiqeenfad & |
(d) STeaEe w1 fawiad <O & WY AR A AR Fow wE § T <1 (38 )

I U e § | \/& WA ¢
(1) (a) 3R (b)

(2) (b) 3R ()

(3) (a) (b) ¥ (o)

4)  (a), (b), () ¥R (d)

Rifeam sreferaeen §, Ga=10% 3R Gw =8% i g8 URUTHLEEY F1 /31T 2

(1) Hewwifa (2) SRISERI
3)  SAAERITA (4) TERYTCH ThIfd

(
s (TP 1



27. Match List - I and List - IT and select the correct answer from the code given below :

List - I List - II

(Author) (Book)
(a) Gunnar Myrdal (i)  The rise and fall of nations
(b) Ruchir Sharma (i) In Defence of Globalisation
(c) Jagdish Bhagwati (i) Capitalism, Socialism and Democracy
(d) Joseph Schumpeter (iv) Asian Drama
Code :

@ (b) () (d)
O @ O @) )
@ (v 6 @ ()
@) v @ @ )
@) 0 @) @ @)

28. The “twin deficit’ problem means a country having :

(1) High fiscal deficit and high current account deficit

(2) High fiscal deficit and high revenue deficit
(3) High fiscal deficit and high governance deficit
(4) High fiscal deficit and high primary deficit

29. MNCGs can help the developing countries to:
(a) Obtain foreign technology and innovative methods of increasing productivity
(b) Employ rural unemployed labour
(c) Finance a savings gap or balance of payments deficit
(d) Generate appropriate technology by adapting existing processes

Choose the correct answer from the code given below :

(1) (a) and (c) only

(2) (b) and (c) only

(3) (a), (c) and (d) only
4) (@), (b) (c) and (d)

30. Which of the following is not part of the W.T.O. Agreement On Agriculture (AOA) ?
(1) Input subsidies
(2)
(3) Domestic support
4)

4 Market Access
il 18
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27.

28.

29.

30.

T - 1 AR gt - 11 ! gafad St $ik 919 fou e 9 98t S &1 = L

et - 1 et - 11
(@) (TEH )
(a) TR Hed () <SS TS A ATE A9
(b) Ffex Tl (i) 7 fetha 3T TAaEsRH
(c) STIEI wTerdt (it) ‘pfueferd, HefesH TUeS <HIHY]
(d) STEE YA (iv) TR g
<
@ (b) (9 (d)
1) @ @ ) Q)
2 (v @) @) (i)
®) @v) @) @) (i)
@4 @@ (@) @) (i)
‘<for <ftRfae’ Twen =1 o1df T <u | frefafed w1 e ©

(1) = USRI =T 3R 3= =1e] WAl =el

(2) S TSI =1l IR I TSI =1l

(3) S TSThMHE =Ml SR I MEA (a4 =l
(4) S TSI =1 IR I TAfHE =1

S wrafar frefafed o fasmeia <9 S fFg YR e T T ¢ :
(a) ScUTEEhAl IgH & T fagelt drnfiet ud Taet gsfaar et e |

(b)  TTHTOT SRS 99 ol TiifSra s |

(c) o= TR AT A Y B Tl Foqareor LT |

(d) Wi wfsraneti & Ui STEe Sk SUE Wit R ST |

T few T %2 H ¥ W@ W R A H

(1) F (a) 3R (c)

(2) FF4 (b) ¥R ()

() FH (), (c) HR (d)

(4) (@) (b), (9 3 (d)

frefafad § ¥ ®F $H W g, 3137, TR (T3A.T) i fewan =& 72
(1) ‘zT3e’ wafaet

2) T wetaEt

(3) e wHe

(4) TSR STETEIAT
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31. In the context of US economy, which one of the following is true for “Triffin dilemma’ ?
(a) UShas to support alarge supply of dollars to act as an internationally accepted currency.
(b) There is a conflict in the short run domestic and long run objective of US trade policy
resulting in trade deficit.
Which of the above statements are true ? Choose from the code given below :
(1) Both (a) and (b) are true
(2) Neither (a) nor (b) are true
(3) Only (a) is true
(4) Only (b) is true
32.  Which of the following does not form part of the foreign exchange reserves of India ?
(1) Gold
(2) SDRs
(8) Foreign currency assets
(4) Foreign currency and securities held by the banks and corporate bodies
33. The Regional Comprehensive Economic Partnership (RCEP) is a proposed free trade agreement
between the members of :
(1) SAARC (2) ASEAN
(3) BRICS (4) EUROPEAN UNION
34. Match List - I (Concepts) and List - II (Economists) and select the correct answer using the
code given below :
List - I List - II
(Concepts) (Economists)
(a) Gross Barter terms of trade (i)  Jacob Viner
(b) Single factoral terms of trade (i) Dorrance
() Income terms of trade (iii) F.W. Taussig
(d) Secular deterioration in terms of trade of (iv) Prebisch - Singer
developing countries
Code
@ () (9 (d)
O 6 @ G @)
@ @ O )
G) @) O @ @)
@) (v) @) @ @
aon [ RTHMIAIN 2
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31.

32.

33.

34.

o7 ]

g.ug. steferaeen & Heo # frefafed § @ w1 ‘fefrm gfaan’ & fau wd@t 2

(a) I.TH. I AR T § liehd w6 9 H HH HE & AT a1 AN H Sfer Sl AYfd
UL T ISl |

(b) I.TE. AUR Hifd & Feuafy =] oiX efafy gawal § foliy ® fowe aiomasy =R
T B |

STgE H | -1 FHUA G 72 A I M e F { o

(1) (a) 3R (b) I W |

2) T (a) IR (b) T 7

(3) HAA (a) TR T

(4) A (b) T T

frafafed § 9 =M wRa & fasht ge1 e =1 fewm & ama €2

(1) wm

(2) THELIAR

(3) foceft ge1 oftewafaat

(4) SR TR wRuRe freRmE grr enfia faet gut we wfayfoat

‘& Toa wEiRfEa samas RN’ (REL.) freafafed & gl & o9 Tt gEafaa
o SATIR R & ?

(1) ¥k (SAARCQ) )
(3) sl (BRICS) (4)

EIE (ASEAN)
[ 9 (EUROPEAN UNION)

eIt - 1 (HeheuaTd) i gt - 11 (srefenferdi) @ gafad wifse o) = fa e e 5t weea 9
&l I A1 T HITT :

T - 1
(HeheaTd )
(a) e FIA-SIEA IR I (
(b) Thdl HIEH AR Wd (i)
(©) (
( (

3T AR I
d) foehreiial <ui i SR wal § Srehliceh g

(b) (c) (d)
@) (i) (iv)
@ (v) (i)
H @) @) (iv)

@) (v) @) (@) ()
AT 2
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35. The presence of increasing returns to scale in an industry leads to :
(1) discouraging producers from exporting
(2) give a comparative advantage in that industry to large countries
(3) make that industry perfectly competitive
(4) cause price in that industry to rise with output
36. Hedging in the foreign exchange market refers to :
(1) An act of devaluation
(2) Covering a risk of fluctuations in the foreign exchange rates in future
(3) Not covering a risk of fluctuations in the foreign exchange rates in future
(4) An act of revaluation
37. Arrange the following acts in the order in which they came into force :
(a) Competition Act
(b) Foreign Exchange Management Act
(c) Consumer Protection Act
(d) The Factories Act
Choose the answer from the code below :
1) (b) (@), (), (©) @ (@, ®), © @
(3) (@) () (b) @ 4 (©) (d), (b), (@)
38. Match the following lists :
List - I List - II
(Committees) (Chairperson)
(a) Industrial Sickness (i) Abid Hussain
(b)  Public sector enterprise autonomy (i) Onkar Goswami
(c) Small Scale industry (iii) Rakesh Mohan
(d) Infrastructure development (iv) Arjun Sen Gupta
Code :
@ ®) © (@
O @ @ 6w
@ @ @) O G
@) G O @) @
@ O @) @
aon [ RTHMIAIN 2
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35.
36.

37.

38.

111
s (1]

T &M H 90 & 9 Yiawa ot Heet § R a1 & ygfa St €2

(1) el 1 Fafa e § Fecafed &
(2) 9 TN H oS I Rl JAAHS BT <Al

(3) 39 ITN I Y& T Hfcreaedt s

(4) 39 TN H IAGH o 1Y HIFd T TG I BT

faestt fafrma s o 2f5i frefafea o forgent I Gohd et & 2
1)  3TaqeH HET

3
4)  GIHSAT R

frefafaa stifufadi 0 ST god B % STIHA | safeed i
(a) ufceasl stfufrm

(b) faceht a1 yeiem stfufm

(c) UM Hafor SAfufTaH

(d) HREm A=

= QU 7T Fe & 9 & IW H TG FY
1) (b), (a), (d), (c) ) (d), (b), (9), (a)
3)  (d), (0), (b), (a) 4)  (9) (d), (b), (a)
Frafafaa et 1 gafad & :
g - 1 g - 11
(wfufa) ( 3TeaeT)
(a) eirEnfies TToma () nfes g
(b) Ik ITH WFAA (i) SRR T
(c) 3T (iii)  Teh¥T HIGT
(d) STEETEA fasE (iv) TSI A T
<<
@ (b) (9 (d)
1) @) @) @ @)
2 @) @Gv) @) (i)
@) (@(v) @) @) (i)
4) @ @) @@ (@)

1

| 2

(1)

2) wfos o foceh fafra < & s=E=rl & sifem 9 gfafad s
(3) ufasr ¥ fageh fafa < A ssme=rl & sifew 9 gfafed & s
(4)
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39. Arrange the following sectors in the ascending order on the basis of their weight in the Index
of Industrial production (IIP) with base year 2011 - 12. Answer from the code below :
(a)  Electricity
(b) Manufacturing
(c) Mining
Code :
(1) (@ (b) and (a) (2) (@), (© and (b)
(3) () (@) and () (4)  (a), (b) and (©)
40. For a financial asset, which of the following is/are correct in relation to rate of return and
the yield from it ?
(a) Rate of return is retrospective while the yield is prospective
(b) Rate of return does not include capital gains while the yield includes capital gains.
Choose the answer from the code below :
(1) Both (a) and (b) are correct
(2) Neither (a) nor (b) is correct
(3) Only (a) is correct
(4) Only (b) is correct
41. When the Reserve Bank of India announces an increase of the Cash Reserve Ratio, what
does it mean ?
(1) The commercial Banks will have less money to lend
(2) The Reserve Bank of India will have less money to lend
(3)  The Union Government will have less money to lend
(4) The commercial Banks will have more money to lend
42. Core inflation has been described as :
(1) Headline inflation — food inflation
(2) Headline inflation — (food inflation + fuel inflation)
(3) Headline inflation — fuel inflation
(4) Food inflation + Fuel inflation
43. According to T.W. Schultz, which of the following statements/are true ?
(a) Farmers in developing countries are unresponsive to government set agricultural prices
(b) Farmers in developing countries are willing to innovate and adopt new methods of
cultivation
Choose the correct answer from the code given below :
(1) Both (a) and (b) are true
(2) Neither (a) nor (b) is true
(3) Only (a ) is true
(4) Only (b) is true
s [T 2
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39.

40.

41.

42.

43.

frrefafead Je=d &, 2011 - 12 % TUR 99 & 1Y, Efh I & gashich (.M. dt.)
3T YR % SR T AR ohA H Fafeed i) fo fu MU Hpe § 3| e

(a) forsTedt

(b) fafaio

() @

e :

(1) (0), (b) 3 (a) 2 (@) (© 3R (b)
(3)  (b), (@) ¥R (o) 4)  (a), (b) W ()

e o< aftamfa & fou frafafea § @ oF fed ot R R o8 wift & geiy § a8t 8/ 2
(a) vfawe it S qeeardt Bt € Safer wiftq wfess geet 2t 7

(b) wfawet i S H YSira ey F& et B § S Wi H S et e g ¥
frefafed e 9 W & =37+

(1) (a) 3R (b) I W |

2) T (a) IRAL (b) T T

(3) HAA (a) TR T

(4) Fad (b) TE 1

ST YR Tsrel Sk Tohg RAETd ST o Jfer Rl SO o € ol ST 7 31 B § 2
(1) anforires Sl & o SUR <7 & e & o= 2w

(2) oRdE RSE S % 99 3UR <A % fAw w9 o9 2w

(3) ¥ WIHR o UE YR < o T 7 &7 M|

(4) @MU Sehi o T YR <F o faQ ek &= S|

‘HR’ YR o foeg wa H afvla foean T g2

1) ‘TSR’ YEEmiid — ErE geremiid

2) ‘TedrEd’ EEmifd — (W HETEmid + 58F HEhI)
3)  RSAREA Erewifd — e gEremifa

4) T HEEHIT + 58 Ehifd

(
(
(
(

ATy, Yoo & TIER FAfared ¥ § H-91/9 Fud §8l 8/ ?

(a) foemreia <uif # fRe™ SRR 511 o i geai & gfd sTgfhamia 8 |

(b) foemraia S § forem TaIor T 3R el 1 T8 TSl ST & 395 o © |
frefafed e o 9 9@ W 1 =TT A

(1) (a) 3R (b) I W |

2) T (a) IRAL (b) T )

(3) HAA (a) TR T

(4) FIA (b) TE I
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44. The government levying taxes on Polluters or charging a surcharge for pesticide use means :
(1) Internalization of negative spill over effects
(2) Marginal abatement cost
(3) Examples of a free rider
(4) Examples of Coase’s theorem
45. Assuming an agricultural growth rate of 4% per annum in India, what will be its contribution
to the country’s GDP growth rate with a 20% contribution of the agricultural sector to
GDP ?
(1) 8%
(2) 5%
B 2%
4) 08 %
46. Optimum population will be at a point where :
(1) National income is maximum
(2) Per capita income is maximum
(3) Population is maximum
(4) Per capita consumption is maximum
47. Who amongst the following made the following statement ?
“The Table of nature is laid for the few. Those who come uninvited will starve”.
(1)  Julius Simon
(2) E. Boserup
(3) T.W. Malthus
(4) H. Dalton
48. Which of the following is not part of a life - table ?
(1) It shows age - specific death rate
(2) Age - specific life expectancy can be estimated
(3) Probability of surviving at particular year of age can be estimated
(4) Age - specific birth rate can be estimated
aon [ RTHMIAIN 2
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44.

45.

46.

47.

48.

THR GRT YT T . IS A AT HIeARIEh h ITANT T AR Fofa e 1 3 279 § 2
(1) ThRIHS ATITed JEl 1 SAHadeRol

2) NG IUHA AN

(2)
(3) HKER % IR
(4) N (Coase) THA & I3

IRA H 4% Tfa a9 &1 HiY T X 91 #, ST § S G & 20% INEHE & |, <9 S
St faerd e o 39T 31 A B 2

(1) 8%
2) 5%
G) 2%
4) 0.8 %

geeqy SHEE 34 foag W Erft 51
1) T 3 Afeehad 2|

(2) wfa =afe s stfereram 21
(3) SHHE Afushad B |
(4) 9fq At I9dM AfeRad 2|

frefafed e = § 9 faaem ©2
" gepfd ot TEd TS TN o faw § 1 S forT s o e o @ Wi
1) Jfew faam

frefafead 9 | -9 Sie-9Rof 1 9FT T8 < 2

(1) e sg-fafire gy < Swiie 71

2) STg-fafire Sfam Ymn 1 sehe fhal ST Hehel ¢ |

3) Tt @ o qo Sifad @A &1 GUEA1 1 3Tehe a1 ST dehel T
(4) smg-faftme =1 <X 1 e foha < T T |

s (TP 2



49. Consider the following data pertaining to India as per NFHS - 4 and Match List - I with
List - II. Select the correct answer from the code given below :
List - I List - II
(Indicator) (Value)
(@) TFR i 2.2
(b) IMR i) 50
() U-5MR (i) 79
(d) Institutional Births  (iv) 41
Code :
@ (® (9 (9
O 6 @@ 6@ @)
@ O @) @ G
@) (v 6 @) G
@ O @ @ @)
50. Rank the following states in descending order according to sex ratio as per census 2011
(a) Madhya Pradesh
(b) Punjab
(¢ U.P
(d) Bihar
Code :
1) @) © @, O)
@ ®) @ © @
(3) (@ b) © (@
@ © (@, 0), @
51. Pollution is an example of Market failure because :
(I) The market price is less than the efficient price
(2) The market price is higher than the efficient price
(8) Property rights are poorly distributed
(4) Those who suffer from pollution are compensated outside the market
52. “For goods that are unrelated in consumption, efficiency requires that tax rates be inversely
proportional to elasticity of demand”. This is the definition of :
(1) The benefits - received principle (2) The second best principle
(3) The inverse elasticity rule (4) The Ramsey Rule
s [T 2
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49.

50.

51.

52.

TATE.TATH - 4 % SFIOR YR ¥ Fafyd frfafag siee W faom &% R 9=t -1 =
et - 11 % 1Y GAfad 1 = i 70 e i gerar § 9@t IO 1 =91 H

Tt - 1 TRt - 10
(Eehdeh ) (&)
(@) FATTH R @ 2.2
b) FRIF (i) 50
) STIARFI R (i) 79
(d) HEANT gHferd S (iv) 41
e
@@ (b) (9 (d)
® @ @) @ ()
2 @ @Gv) @) (i)
®) @v) (@) @) (i)
4) @O @) @) (@Gv)
Y 2011 1 SIHIVET & STIER, fot o7q41d & Hed § frefafad =i &l sied g A H TS
(a) T W
(b) T
() JW U
(d) fo=R
<< :
1) (@), (c) (d), (b)
2)  (b), (a), (9), (d)
3) (@), (b), (o), (d)
4) (), (d), (b), (a)
T TSR fIwherdl o Teh S0 § M
(1) SR 93 $IA Jod J HH Sai ¢ |
2) ISR Y FIA G 9 e Bar T
(3) HHfd  AFYHR F1 T faaRor g ¥ |
(4) TGV § YT Al i SINIR % SR ifqgfd i S 2|

" ot S ST # walf T ¥, S qe % fow ww enifem A § R o, i e ¥
gfae® T H & 1" =8 g fRet § 2

(1) g wie fagrd ) o= geaqq fagid

(3) Hfdam = feH (4) g fm
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53. A forward - shifted tax will affect :
(1) Buyers and Sellers equally
(2) Sellers more than buyers
(8) government revenue negatively
(4) Buyers more than sellers
54. The case for progressive tax rates rests on :
(1) Benefits received
(2) Cost of service
(3) Ability to pay
(4) None of the above
55. Primary deficit is measured by :
(1) Fiscal deficit — interest payments
(2) Budget deficit — interest payments
(3) Budget deficit + total borrowings
(4) Total Revenue expenditure — total revenue receipts
56. Which one of the following is not correctly matched ?
Plan Strategy of Plan
(1) 11t Plan Inclusive growth
(2) 2nd Plan Heavy industry investment
(3) 3" Plan Balanced growth
(4) 8t Plan Basic Needs
57. Who amongst the following economists have majorly contributed to TFP studies in Indian
Context ?
(a) B.N. Golder
(b) A. Virmani
(c) D.K. Das
(d) A. Sen
Choose the correct answer from the code below :
(1) All of the above
(2) (9 and (d)
(3) (a), (b) and (©)
(4) (0 and (@)
s [T .
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53. STI-TAMIARA T I IHE BT
(1) sharsdl IR foshamsll W wHFEY |
(2) sharell ki 3T9eT fosharedl W sty
(3) HWER o T T THRHE

(4) Torsharsti =t eTaN shaell W Aty

54. Yfaeiel L U K1 A fAEfafga § 9 feg w AR a2
(1) 9= @y
(2) Hel AFd
(3) A IR
(4) SwdH F 9w T
55. WA =1 i A frefafaa § 9§ fads gr ol S €2
(1) TSTREE =T — SN I
(2) FSE HRI — AN YT
(3) WSIE W + A SUX-TRI
(4) P TS HT — FHed e i

56. Trafafad # @ SH-a1 gafea =& © 2
ST TISTAT ki 0TI

57. ¥Rd & Gy ¥ fAfafad § 9 foeg stefemsht/ fha srdenfaai &1 Suw . stees § wedl AR
W@E?
(a) ST Tieet
(b) T foeart
) <% I
(d) T
= fSU TTT e H Q W AT R FIT HY
(1) S |«
2 (0 ¥R (@
(3) (@), (b) 3 ()
(4) (b) 3R (d)
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58. Consider the following statements in relation to Gender Budgeting and answer from the
code given below :

(a) ‘Gender analysis’ of the budget
(b) Preparing a separate budget for women

(c) Government of India adopted gender budgeting in 2005 - 06

Code
(1)  (a), (b) are correct
@) (a), () are correct
(3)  (b), (c) are correct
(4)  (a), (b), (c) are correct

59. Arrange the following indices in the chronological order and answer from the code given
below :

(a) Multi Dimension Poverty Index
(b) Human Poverty Index

(c) Capability Poverty Measure

(

d) Human Development Index

Code

1) (), (0) (b), (a)
2 (), (b) (©) @
®)  ®), @), (@), (©
@) @, () () (d

60. Which organisation in India has been given the responsibility to monitor the progress of
sustainable development goals ?

(1) Reserve Bank of India

(2) Central Statistical Office

(3) NITI Aayog

(4) National Sample Survey office

o |
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58. ‘St asEi’ o Hey H Frfafed weAl W foar & &R = fSu 71T e &t Jera 9 SW T

59.

60.

N7 IIHIHHIII\HI\HHIH||H\||||H|HI\|H|\|IH\IHII\II\I\I||\ .

(a)
(b)
(©)

< :

1)
(2)
(3)
(4)

4

1S o1 ST favaror’
Higetsti & fau Teh A J9Te dIR T

O TR 3 99 2005 - 06 H ‘ST Ssieif’ STImET o |

(a), (b) T |
@), (c) T &1
(b), (c) T 1
(a), (b), (c) T &1

frfafed geehienl 1 FIAHATER FMC 3R F= {33 7T e Fi F&a 9 WS :

EREIRIIRECECIRS CEaED
e e gk
grAa1 e A9

el forehTd Y=rehieh

YA & T TTe 1 GUroi foemmd el sl FRe 39 1 <ifece 9ir 1 © 2

(1)
(2)
(3)

T e S

Farg Hiferen! TfRe
e s

T FHAT HA&T SRS
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61. Which of the following does not come under Small Savings Schemes as per Government of
India ?
(1) Post office deposits
(2) Public Provident Fund
(3) Jan Dhan Accounts
(4) Sukanya Samiridhi Yojana

62. Which one of the following schemes provide upto X 2 lacs accidental death Insurance to the
people in the age group of 18 - 70 years ?

(1) Atal Pension Yojna

(2) Pradhan Mantri Jeevan Jyoti Bima Yojna

(8) Pradhan Mantri Suraksha Bima Yojna

(4) Atal Jeevan Beema Yojna

Questions 63 to 66 are Assertion (A) and Reason (R) type. Key to these questions is as follows :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correctexplanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

63. Assertion (A) : Public utilities do not opt for profit maximisation policy.

Reason (R) : It would lead to under utilization of capacity.

64. Assertion (A) : The existence of industries with increasing returns to scale create an
additional opportunity to gain from trade.

Reason (R) : By specializing in a smaller number of industries, countries can produce
more in each industry and the costs of production will, therefore, fall.

65. Assertion (A) : Recursive models can be suitably estimated by OLS method

Reason (R) : Recursive models satisfy Identification conditions

66. Assertion (A) : Classical macro model is decomposable into real and monetary sectors

Reason (R) : Money affects both income and employment
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61.

62.

IRA THR & AR Fefafad § @ H-1 o S=a et o faria & o g 2
(1) STH=R S

(2) e vfas iy
(3) S @I

(4) g HYfg A

Frefafad o 9 ford 1 o @ 18 - 70 4 o 3777 - HHE o AN ohl X 2 A T 1 ol §og
st fean Sran g 2

(1) ofea 93F IS

(2) Y HA e S S A
(3) WHM T Y& SH1 A

(4) 3Ted Sited S A

WW@@W%WWW(A) 3R ek (R) TR & U9 &1 T Ul i Foll 39 WHR T

63.

64.

65.

66.

(1) (A) 3R (R) SF1 T € 99N (R), (A) T T =08 S|

) (A)W(Raﬁaﬁ%éﬁﬁ ), (A) T HE AT T T
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67. An entrepreneur’s short - run total cost function is C=q® —10q%+17q + 66. If p=>5 the output
at which profit is maximised by this entrepreneur is :

Q 7 2 6 B) 5 4) 2/3

68. Given the Market model with Demand and supply functions as under :
D,= ap,+b a<0
S;=Ap,_,+B A>0

The condition for stable equilibrium here will be :
A
A

69. The production function in Input - Output Analysis propounded by W.W. Leontief has implied
the value of elasticity of substitution between inputs as :

(1) a<A @ lal<

(1) One (2) Zero (3) Constant (4) Infinity

70. For a Demand Function p=16—q—0.5g? the price elasticity of demand at q=4 is :
(1) +0.5 (2) +0.2 3 +0.7 4) +03

71. Cobb - Douglas production function Q= AL2K! ~2(a>0) is not characterised by :
(1) Constant returns to scale (2)  Unit elasticity of substitution

(8) Variable elasticity of substitution (4) Linear homogeneity

72. For samples of size greater than 30, the sampling distribution of the rank correlation coefficient
is approximately which distribution :

(1) t (2) Binomial (3) Chi - square (4) Normal

73. If a Durbin - Watson statistics takes value close to zero, what will be the value of first order
autocorrelation coefficient ?

(1) Close to zero (2) Close to plus one
Close to minus one (4) Close to either minus or plus one
N7 \IHII“II\HIH 1A ’
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67.

68.

69.

70.

71.

72.

73.

et STt o1 STearafy Fd @ wed C=q? —10g2+17q+66 T1 A p=5 T 1 3% STH 5
frfafea 3 9 fog Saare © oy e1feeray foran Stmam ?

¥ 7 (2) 6 ® 5 4 2/3

Teh IR e B A/ 3R fd e et fog e €
D,= ap,+b a<0
S,=Ap,_,+B A >0

1) a<A @ <

FTa Fefa forgeror § Scare wor 19 sy, gsey, foraifew = wfqaifed foran e, o siaiia emrdi o
T FETo i e o1 3R A 1@ TR 2

1) T 2 A 3) fer (4) o4

STET /i e p=16—q—0.5q2 § T&I q=4 B T A A I @l B -
(1) +0.5 2) +0.2 3) +0.7 4)  +0.3

hid-Sed AR Feld Q= ALAK! ~2(a >0) ot FrAfafad § & e-dt oo & 22
(1) M % feer gfawd (2) UfEeTe SR A
(3) faeare &t aRada d (4) s FEETE

30 § 31fYeh, TR aTel Ufaeel § hife Tedsee Tohs & Yideed ded =g f § & ®F-41 fehem
S B ?
1) ‘2 2 fgm= (3) - = (4) wEE

afe el aread wfefed Y= & e 1 qo IR0 H § @ Fom Hife WHeda o & 9o
AT ?

(1) 93 & fehe (2) +1 % e
(3) -1 e 4) —13R +1¥ 9 fFeht & frwe
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74. What would be consequences for the OLS estimator if heteroscedasticity is present in a
regression model but ignored ?

(1) it will be biased (2) it will be inconsistent

(8) it will be inefficient (4) All (1), (2) and (3) will be true

75. Match the following and select proper code :
List - I List - II
(a) Koyck (i)  Autocorrelated disturbances

(b) Durbin - Watson (i) Lagged variables

(c) Fisher’s F Test (iii) Causality
(d) Granger (iv) Test of significance of overall regression
Code :

@ (b) (9 (d)
® @ @ @ G)
2 @ @ (v) (i)
(®) @) @) @O (@)
@ @ @) (@Gv) (i)

-00o0-

st (1T s


John
Highlight

John
Highlight


74. Ifc GmgHo Aied § fomfaamiiar Hisg 8 weg 3§ ToRsiers 1 fedn S Al $7.ue. Tt stiehetsh W

THhT T JHE TS ?
(1) % tfyd g (2) I8 SFHTC BT
(3) T LI B @) (1), () 3R (3) T =& B

75. TrAfafEa %1 gafad o oIk W& Fe & == &

g - 1 T - 11
(a) AR () TEEHeEd Ffeug
(b) <o G (ii) YA =
(c) TwHI = (TH) “(Fy 98&qor (i) shROTFdl
d) ¥R (iv) THT THEIGA i Wiefhdl S T
®e
@ (b) (9 (d)
® @ @) @) ()
2 @ @ @v) (i)
3) @) (@Gv) @) (i)
4 @@ (@) @v) (i)
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